
PMMMB-72150-A

Key Number/Item Description/Quantity/Part Number

1
2
3
4
5
6
7
8
9
10

40” Straight Handle  
Curved Handle With Grip
Broom Head
1/4-20 X 1-1/2” Bolt
Hook
1/4-20 X 1-3/4” Bolt
1/4-20 Nylon Lock Nut
 83-3/4” Bristle
Broom End Cap
#8 X 5/8” Screw

72152
72153
72151
71355
71356
71153
71154
72154
72128
72129

2
1
1
2
2
2
4
1
2
4

1

1

2

8

3

9

5,6,7

5,6,7

4,7

4,7

10

MAGNUM
MONSTER BROOM

72150

6620 Nordic Drive
Cedar Falls, Iowa  50613  USA
Phone: 319.266.2638
Fax: 319.266.9627


